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SECTION – A (10 X 1 = 10 Marks) 

Answer ALL Questions. 
 

CO1 K1 1. In solvable for y, 0),.( pyxf  can be put in the form ________. 

a)            b)          c)               d)  

CO1 K2 2. The operator 
2D is denoted by ________. 

a)   
dx

dy
                     b)   

dy

dx
                    c)   

2

2

dx

yd
                       d) 

2

2

dy

xd
 

CO2 K1 3. The solution of   0452  yDD is _________. 

a) 
xx ececy 4

21     b)
xx ececy 4

21      c) 
xx ececy 4

21  
       d) 

xx ececy  21  

CO2 K2 4. 
The solution of ax

aD
cos

1
22 

 is _________. 

a)  
a

axxsin
              b)

a

axx

2

sin
               c) 

a

axxcos
                     d)

a

axx

2

cos
 

CO3 K1 5. 
The solution of 0costan 2

2

2

 xyx
dx

dy

dx

yd
is _________. 

a) )sin(sin)cos(sin xBxA                        b) )sin(sin)cos(sin xBxA   

c) )sin(sin)sin(sin xBxA                          d) )sin(sin)cos(cos xBxA   

CO3 K2 6. Which one of following is a linear form?  

a)  0 Py
dx

dy
       b) 0

2

2

 Py
dx

yd
      c) 0

3

3

 Py
dx

yd
         d) 0

4

4

 Py
dx

yd
 

CO4 K1 7. The result of eliminating the arbitrary function from )( 22 yxfz   is __________. 

a) py=qx                    b) p=q                     c) y=x                          d) py=x 

CO4 K2 8. Which one of following form is Clairant’s form? 

a) qypxz       b) ),( qpfqypxz        c) qypxz       d) ),( qpfqypxz   

CO5 K1 9. A chemical reaction of growth and decay is called a ___________. 

a) first order reaction                                   b) second order reaction 

c) third order reaction                                  d) nth order reaction 

CO5 K2 10. The algebraic sum of electromotive forces around a closed circuit is  ______. 

a)  0                     b)1                             c)   2                              d) n 
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SECTION – C (5 X 8 = 40 Marks) 

Answer ALL Questions choosing either (a) or (b) 

CO1 K3 16a. 
 
 

Solve 
22 1 px  . 

(OR) 

Solve tyx
dt

dx
 32 ; 

teyx
dt

dy 223  . CO1 K3 16b. 
 

CO2 K4 17a. 
 
 

Solve   .cos423 xeyDD x  

(OR) 

Solve   .sin42 xxyD   CO2 K4 17b. 

CO3 K4 18a. 
 
 
 

Solve   .)2(2 32

2

2
2 xexyx

dx

dy
xx

dx

yd
x   

(OR) 

Solve )sin(log)cos(log4'"2 xxxyxyyx   CO3 K4 18b. 

CO4 K5 19a. 
 
 

Solve )()()( 2222 yxzqyzxpxzy  .  

                                                     (OR) 

Solve npqqp  22
. CO4 K5 19b. 

CO5 K5 20a. 
 
 
 
 

In a certain chemical reaction the rate of conversion of a substance at time t is 
proportional to the quantity of the substance still untransformed at the instant. At 
the end of one hour 60 grams remain and at the end of 4 hours 21 grams remain. 
How many grams of the substance were there initially. 

(OR) 
Explain Brachistochrone problem. CO5 K5 20b. 
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SECTION – B (5 X 5 = 25 Marks) 

Answer ALL Questions choosing either (a) or (b) 

CO1 K3 11a. 
 

Solve   2/121 pxxpy   

(OR) 

Solve 022  xypxp . 

CO1 K3 11b. 

CO2 K3 12a. 
 
 

Solve   .653 xeyDD   

(OR) 

Solve   .5sin8982 xyDD   CO2 K3 12b. 

CO3 K4 13a. 
 
 
 
 

Solve   .)1(12
2

2
xeyx

dx

dy
x

dx

yd
x   

(OR) 

Solve ).sin(log53
2

2
2 xy

dx

dy
x

dx

yd
x   CO3 K4 13b. 

CO4 K4 14a. 
 

Eliminate f and   from the relation )()( ayxayxfz   . 

(OR) 

Solve yxqxzpzy  )()( . 
CO4 K4 14b. 

CO5 K5 15a. 
 
 
 

If the population of a country doubles in 50 years in how many years will it treble 
under the assumption that the ratio of increase is proportional to the number of 
inhabitants? 

(OR) 

Solve 
0ERI

dt

dI
L  with the following initial conditions. 0I  is the current flow 

initially. 0E  is the constant electromotive force impressed on the circuit at t=0. 

CO5 K5 15b. 
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